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1. General government purchase of goods
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2. General government employment

Supply -Use balance: Multiplier in pct.
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Taxes and income transfers: Percentage share of GDP
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3. General government investment in buildings
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4. General government

Supply -Use balance: Multiplier in pct.
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Taxes and income transfers: Percentage share of GDP
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5. Foreign demand

Supply -Use balance: Multiplier in pct.
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6. Income tax rates
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0.4 5
0.3
0.2 4
0.1 4
0
-0.1 4
-0.2 4
0.3
0 10 20 30 40 50 60 yr
—— GDP (fY) Investment (fl)
——— Private consumption (fCp) ——— Export (fE)
——— Public consumption (fCo) —— Import (fM)

Labor market: Multiplier in 1000 people.

R . . . . .

0 10 20 30 40 50 60 yr
—— Employment (Q) ——— Unemployment (Ul)
Labor force (Ua)
Saving balance: Percentage share of GDP
0.3 E
0.2 i
0.1 i
0
0.1 7
0.2 i
0.3 L L L L L
0 10 20 30 40 50 60 yr

Government sector (Tfn_oly)

Foreign sector (Tfn_ely)

——— Private sector (Tfn_hcly)

Households (Tfn_hly)

——— Interest income, private sector (Tin_hcly)

Wage and prices: Multiplier in pct.

0 10 20 30 40 50

——— Consumption deflator (pcp)
Production price (pxn)

Hourly wage (Ina)
House price (phk)

60 yr

0.3
0.25
0.2
0.15
0.1
0.05

Supply -Use balance: Multiplier in pct.

-0.05
-0.1
-0.15

-0.2

10 20 30 40 50 60 yr
—— GDP (fY) Investment (fl)
Private consumption (fCp) ——— Export (fE)
——— Public consumption (fCo) —— Import (fM)

Labor market: Multiplier in 1000 people.

—— Employment (Q)

0.25
0.2
0.15
0.1
0.05

-0.05
-0.1
-0.15
-0.2
-0.25

0 10 20 30 40 50

10 20 30 40 50 60 yr

~——— Unemployment (Ul)
Labor force (Ua)

Saving balance: Percentage share of GDP

Government sector (Tfn_o/y)

Foreign sector (Tfn_ely)

——— Private sector (Tfn_hcly)

Households (Tfn_hly)

——— Interest income, private sector (Tin_hcly)

Wage and prices: Multiplier in pct.

10 20 30 40 50

60 yr

——— Consumption deflator (pcp)
——— Production price (pxn)

Hourly wage (Ina)
House price (phk)




Taxes and income transfers: Percentage share of GDP
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7. Indirect taxes
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8. Foreign prices
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9. Oil prices
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10. Labor supply - number of workers
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11. Labor supply - working hours

Supply -Use balance: Multiplier in pct.
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12. Productivity - labor efficiency
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13. Productivity - machinery efficiency

Supply -Use balance: Multiplier in pct.
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14. Productivity - efficiency of all factors

Supply -Use balance: Multiplier in pct.
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15. Interest rates

Supply -Use balance: Multiplier in pct.

Supply -Use balance: Multiplier in pct.
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16. Private consumption

Supply -Use balance: Multiplier in pct.
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17. Hourly wages

Supply -Use balance: Multiplier in pct.

Supply -Use balance: Multiplier in pct.
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18. General government purchase of goods, balanced

budget

Supply -Use balance: Multiplier in pct.
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Taxes and income transfers: Percentage share of GDP
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19. Labor supply - early retirement scheme, balanced

budget

Supply -Use balance: Multiplier in pct.
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